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This question paper contains 4 printed pages]

JB—57—2023

FACULTY OF HUMANITIES

B.A. (Third Year) (Fifth Semester) EXAMINATION

NOVEMBER/DECEMBER, 2023

ECONOMICS

Paper IX (DSE)

(Mathematical Economics-I (Optional))

(Tuesday, 5-12-2023) Time : 10.00 a.m. to 12.00 noon

Time—Two Hours Maximum Marks—50

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(iii) Use of calculator is permitted.

1. What is meant by extrapolation ? Explain the importance extrapolation.

10
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WT (    2    ) JB—57—2023

Or

The table below gives the wheat production of different years in India. Find

the probable production of the year 1984.

Year 1980 1982 1984 1986 1988 1990

Production (Ton) 60 95 – 160 260 350

2. Explain the transpose of matrix with suitable example. 10

Or

Multiply the following matrices.

1 2 3

A = 5 4 6

3 5 8

7 2 4

B= 5 1 6

1 5 –1
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WT (    3    ) JB—57—2023

P.T.O.

3. Explain various types of matrices with suitable example. 10

Or

Solve the following simultaneous equations with the help of matrix.

     x – y = 6 and x – 4y = 3

4. Explain uses of derivative in Economics. 10

Or

Find the partial derivatives of the following equations :

(a) Z = y3 + 2x3y – 2x2 + 3xy3

(b) Z = 4X2 + 2XY + 4Y2
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5. Write short notes on any two : 10

(a) Interpolation

(b) Indices

(c) Find determinant

3 2 –1

A = 2 5 4

2 6 2

(d) Find total derivative.

Z = 3xy – 6x2y2

JB—57—2023 4
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